N of associated (recoToSim) looper tracks vs normalized x*

recoToSim) tracks vs normalized x?

[{

[N o associated

normalized x? |

ck vs

[N of reco tra

0 2 4 6 8 1012 14 16 18 20

track x?

berset

sxoen aredidnp

track x2

syoen areandnp oney

Soel} e}

0 2 4 6 8 10 12 14 16 18 20

0.

16 18 20

0 2 4 6 8 10 12 14

track x2

syoel axey oney

P TR
~

o
=1

syoes ang

10 12 14 16 18 20

8

6

4

2

track x2

ERlZQ/Sta/CMSSW 13 2 0 pre3/src/DOM TT _MODIFok

syoesy angy oney

syoen

[ Nofreco trackvs. 4 ————

syoen oney



	Contents
	Page 1


